Bowling Quiz 3







Name _______________________

1. The sequence below shows the total number of days Victoria went swimming by the end of weeks 1, 2, 3, and 4 of her new workout routine.     4, 9, 14, 19, ….

Which function could be used to find the total number of days Victoria swims at the end of week, w, if her pattern continues?

     a. S(w) = w + 5

b. S(w) = 5w - 1

c. S(w) = 5w + 4

d. S(w) = w2
2. Suppose that the equation f(x) = -10.4x2 + 378.5x + 10000 represents the total value of an investment x years after 1985.  In what year does the investment have the greatest value? 

     a. 1995


b. 2003


c. 2008


d. 2021
3. The distribution of 1,000 students at a high school is shown in the frequency table below. Approximately what percent of juniors are female?
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Freshmen | 130 | 80

Sophomores | 110 | 150
Juniors 60 [ 120
Seniors 120 | 130













a. 12% 


b. 43%









c. 49% 


d. 57%

4. Find the midpoint of the longest side of a right triangle with vertices (-1, 4), (3, 1) and (0, -3)
     a. (1/2 , ½)

b.  (-1/2, -1/2)

c. (1, 2)


d. (-1/2, ½)

5. What is the slope intercept form of the linear equation with a graph that passes through (8,9) and is parallel to the graph of -7x + 4y = 16?

     a. y = 7x – 47

b. y = 7x – 65

c. y = 7/4x – 5

d. y = 7/4x – 23
[image: image2.png]Hours Worked (x) | _Tips Earned (y)
3 71
7 50
B 82
Z 26
3 55




6. Alyssa compared the slope of the function shown below to that of a linear function with an x-intercept of 4 and a y-intercept of -8. What is the slope of the function with the smaller slope?









a. -1 



b. 1 









c. ½ 



d. - ½  

7. What is the x-coordinate of the solution to the system below?

[image: image3.png]Late Not Late
Route A 4 10
Route B 3 7
Route C 4 12





8. Note the following regarding a vacation and a car rental company:


- A car rental costs $25 dollars per day


- A car cost $0.50 per mile


- You drive 312 miles on the vacation

Which function rule represents the cost of the car rental for x number of days?

     a. C(x) = 25x + 156 
b. C(x) = 25 + 0.50x       c. C(x) = 12.5 + 312x 
      d. C(x) = 7800 + 0.50x
9. A caterer charges a setup fee and amount per person to provide a buffet. What is the caterer’s setup fee?
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a. 10 



b. 50 









c. 60 



d. 350

10. The library charges $5 for a library card plus $2 for each book you check out. What is the most amount of books you can get if you at have at most $14 to spend?

     a. 2

 
b. 3



c. 4



d. 5
11. Factor 3x2 + 3x – 60 

     a. 3(x - 10)(x + 2)
b. 3x(x – 4)(x + 5) 

c. 3(x + 4)(x – 5)

d. 3(x – 4)(x + 5)
12. NC: A frog’s jump can be modeled by the equation f(x) = -10x3 + 40x. How long is the frog in the air?
13. Tomas is trying to decide on the best possible route to drive to work. He has a choice of three possible routes. On each day, he randomly selects a route and keeps track of whether he is late. After a 40-day trial, his notes look like this.
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          How many more days did he take route C over route A?
14. Find the area of the right triangle with vertices (-1, 4), (3, 1) and (0, -3).
15. Which of the following is an example of exponential growth or decay?

     a. Billy is on the wrestling team.  He is trying to lose 3% of his body weight each week.

     b. Cheyanne uses a coupon for 20% off at Old Navy.

     c. Karen earned $10 each day for walking a neighbor’s dog.

     d. Kevin sells 5 doughnuts per day.
16. Solve for x and y. 


-3x – 3y = 3


Y = -5x – 17 

17. Steve sells vacuum cleaners door to door. He earns a base salary of $500 plus $100 for every vacuum cleaner he sells. Steve also works selling encyclopedias door to door. He makes $300 plus $200 for every set of encyclopedias he sells. Write a function that represents the total salary of selling both vacuum cleaners and encyclopedia sets.

     a. 1100x


b. 300x + 800

c. 800x + 300

d. 400x + 700
18. The table below shows the number of hours that Tammy worked during 5 days and the amount of tips she earned. What is the difference between the observed and predicted value of working 7 hours?
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19. The cost of a limousine ride is given by the following equation: F = 30h + 80 where F is the fare (in dollars) and h is the hour.  Which of the following best explains the situation?
     a. The limousine charges $80 per hour and a starting cost of $30.

     b. The limousine charges $30 per hour and a starting cost of $80.

     c. The limousine charges $80 per hour.

     d. The limousine charges $30 per hour and an $80 discount.
20. Simplify (x + 5)2
